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EX0012

Question 1

Several investment analysts have argued that the increase in tax by the Ministry of Finance,
Economic Development and Investment Promotion in its 2024 National Budget was ill-timed and
could result in the overheating of the economy, as an investment analysist, critically analyse the
potential implications of the increase in tax to both foreign and local investors. [25 marks]

Question 2

Shifting funds from the risky portfolio to the risk- free assets is the simplest way to reduce risk

(Whitehurst, 2002, PP 200). Using investment knowledge, critically evaluate the above. [25 marks]
Question 3

Tarlenty has a $9000 of fully diversified portfolio. He subsequently inherits ABC Company common stock

worth $100000 His financial adviser provided him with the following forecast information:

Expected Monthly Returns | Standard Deviation of Monthly Returns

Original portfolio 067% 237%

'ABC stock 125% “ 295%

The correlation coefficient of ABC stock returns with the original portfolio returns is 040

a) The inheritance changes Tarlenty’s overall portfolio and he is deciding whether to keep the ABC stock
Assuming Tatlenty keeps the ABC stock, calculate the

i) Expected return of his new portfolio which includes the ABC stock [2 marlss]

i) Covariance of ABC stock returns with the original portfolio refurns [3 marks

iii) Standard deviation of his new portfolio, which includes the ABC stock [3 marks

b) If Tarlenty sells the ABC stock, he will invest the proceeds in risk-free government securities yielding
042% monthly. Assuming Tarlenty sells the ABC, stock and replaces it with the government securities,
calculate the

i) Expected return of his new portfolio, which includes the government securities. [2 marks]

ii) Covariance of the government security returns with the original portfolio returns. I3 marks
it} Standard deviation of his new portfolio, which includes the government securities. [3 marks]

¢) Determine whether the systematic risk of his new portfolio, which includes the government securities,
will be higher or lower than that of her original portfolio : [3 marks)

i) Calculate variance of the portfolio. [3 marks]




ii) On the basis of conversations with her wife, Tarlenty is considering selling the $100 0000 of ABC stock
and acquiring $100 000 of XYZ Company common stock instead XYZ stock has the same expected return
and standard deviation as ABC stock His wife comments, "It doesn't matter whether you keep all of the
ABC stock or replace it with $100,000 of XYZ stock" State whether her husband's comment is correct or

incorrect Justify your response. [3 marks]

Question 4

a) Use the following information to answer the questions that follow

Current stock price = $1362, Strike price = $15, Time to maturity = 02822, Standard deviation of price =
081 and Risk-free rate of return = 463%

Using the Black- Scholes formula, calculate

i) The values of dy and d and their respective cumulative probabilities {3 marks]

i1} Values of a European call option with these characteristics {2 marks]

b). The life cycle approach to the management of an individual’s investment portfolio views the

individual as passing through a series of slages, becoming more risk averse in later years

(Whitehurst, 2002: pp 200). Using your investment knowledge, discuss the rational underling this

approach. : [20 marks]
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APPENDIX TABLES

Normal Curve Areds
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